sustainable travel policy 
The goal:
Formulate implementable policy’s that contribute towards our goal to reach 50% less environmental impact (focusing on CO2eq) with corporate travel than 2019.  
Policy structure
The policy needs to comply to the SMART structure, in order to be implementable:
S = specific:		What is going to be accomplished with this policy? 
Who is responsible? 
What steps are needed to implement this?

M = measurable:  	Set real numbers, with real achievable outcome that is trackable
A = achievable: 	Is this objective something we at Nikhef can really achieve?
R = relevant: 	Is this policy driving us towards our sustainability goals? If the effort worth it in regards to the projected outcome?
T = time-bound” 	Can we achieve to implement this and reach a (significant) part of our goal within the given time period? 
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